) €M)

ooa

Ratio

a(d o) (rad)

=

0.95L

[
<
N

19_%illlliIIllillllillllillllilllli

0 1 2 3

a0 d ) (cm)

=
P | ....I.

0.95

—=— DQM_original_stepZ_ttbar-phaseIl-newgeom m”ne)
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DQM_pixel CPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

H
EN
i»;
——
My
.......ﬂ.l.—.....
—
i
=
e
o

e —1 0 1 2 3
TP ® (PCA to beamline)

o©p_/p)

......................................................................

o2 é
TP ® (PCA to beamline)



	Contents
	Page 1


